£ yample:
duwP‘e,. ?oMr?e,eJ Fi”ers

M(& Fd?;:\j)aﬂl?h I 1\ 5 A P & Ia"‘ Pae“"“‘jﬁi?ﬂk
|,1 —2 D,.QﬂD a\ Lta n-n, “‘10479

/3 L'”-W
I..-y W passte = obsencf
S’Zok lT)

IS QA
as li\ﬂ“ L—.:(CM
e 0 = I\
' Ly \-—a>
)7\ ® =7 N NWwW
5 "2 AR < 2Iﬂ$%lt\> ﬂ
L B > +\l:-7: 7>
</










ZXdvaP‘e,: ?o|ar?%,eJ Fhi”e.rs
ExPe,mM C

- T
o) Ioo(aﬁ%a};aw;’> .
- 3 1L bloched







@ku,?mjr lor Ha secrad kud



2_ oou,\oih dassi‘caﬂ SJﬁJrcsf OO0 Ol | O (|

ODULGLanu.m Suﬁ)e/rPOS{vl—row g
' kP> = Xoo |0°> + 0(01\ Ol> + D(lo o> 4 O<“ |H> i

v/ e € ) Teo) ¥ 1olal® #1014 Toty)* =




